EN %
COLJTE3FACTIS
!-mk"} MOTOORTEINS

Installation Instructions >> Pannier Racks >> KTM Adventure

1. Remove the factory pannier mounts usinga 3 Mount the left side pannier and secure on
T45 torx key. the top using one of the M8x30mm bolts.
Leave it loose.




3. Hand-thread another M8x30mm bolt to 4. Make sure that the pannier rack is loose
partially secure the left side pannier before enough to fit the spacers behind the
you move onto the next step. mounting tab.

Installation Instructions >> Pannier Racks >> KTM Adventure

5. Longer bolt will go on top 6. Insert and han-thread both bolts. Leave it

and shorter (M8x45mm) on the bottom. loose!
Don't forget to add the washers.




7. Optional step to gently tighten the upper 8. Using an 8x40mm Allen bolt, washer and
bolts, in case you're having a hard time hand-  locking nut tie the top left side of the pannier
threading them. rack into the pre-mounted bracket.

Leave it loose.

Installation Instructions >> Pannier Racks >> Africa Twin 1000

9. Move onto mounting the right side pannier  10. Repeat step #4, #5 and #6 on the right side.
rack. This time you'll use the M8x30mm bolts.




11. Mount the rear cross brace. 12. Using the all four M6x20mm hex bolts,
locking nuts and washers, secure the rear cross
brace. Recommend tools: T0mm wrench and
10mm socket and ratchet but another option
is two 10mm wrenches.

Finally tighten ALL the bolts and nuts!

Installation Instructions >> Pannier Racks >> KTM Adventure

Hardware List and Recommended Tools

T
6. O 8. 9.
| ' r ' ' ’ , 1. 6mm Allen key or 6mm Allen socket
, rff 2. 10mm wrench

4
3
. 3. Optional 2nd 10mm wrench
L ("“L 4 ! "Tl o 4. 10mm hex socket
3 \ | arara 11 5. Ratchet extension
20D 11.
davave 12. 6. Ratchet
13.

7. 1% M8x55mm Allen bolt
w 14. 8. 1x MB8x45mm Allen bolt

9. 6x M8x30mm Allen bolt

10. 4x M6x 20mm hex bolt

11. 4x spacers

12. 4x M6 locking nuts

13. 4x M6 washers

14. 8x M8 washers




